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(= CIOIE M2, wer el 138 F)

2015 1 20|

2014 & 4 20|

2014 & 1 20|

=0IKAS $ 9,451 $ 9,635 $ 10,085
SO0IK AS 11,751 9,090 12,481
OIXt HIE ZH 3 E4¢ 21,202 18,725 22,566
MEEA ECtz FMOloH 765 219 1,009
SLOIX HIE 15,695 14,196 022,238
AS HAE 0l (2a) 4,742 4,310 (681 )
ASH HIZ(6IE) 1,385 1,260 (405)
SENEN) $ 3357 $ 3050 8 (276
A= Y2 382 312 238
BEZ N MNEG =
=0]2(&4l) $ 2,975 $ 2,738 $ (514)
e BEx 3,859 648 24,925
grsl L 0|2 BR BEF 10,518,790 10,516,334 10,560,518
gl Qg B aM g0 11,266,511 11,273,773 10,560,518
oFAl BP WXNEE
= 2zA $ 383,120 $ 371,014 $ 329,711
= [z 2 2lA 872,393 884,733 919,482
£ =J} Tat 1,804,399 1,802,121 1,803,297
Z X} A 2,138,574 2,137,551 2,139,266
=02 1,130,725 1,122,514 1,118,177
BEZX == X2 225,357 224,479 223,207
£ == X2 245,744 243,454 236,559
e
T A s 0.64 % 0.57 % n/m
R 28 =x I 2958@ 7.88 7.15 n/m
Bsxg B
ol (&4!) $ 0.28 $ 0.26 $ (0.05)
g4 ol (zal) 0.27 0.25 (0.05)
= =2NF= 0.05 0.05 0.01
X2 o 21.66 21.32 20.75
S8 mg JpH@ 14.79 14.43 13.81
20154 3 2015 12.€ 2014 3¢
31 31 g 31
OFAl J|Z THXINEE
= 2sA $ 383,989 $ 380,461 $ 340,696



= s < 2la 877,956 881,391 916,217
= =} Kot 1,800,796 1,768,431 1,812,832
= X} At 2,143,545 2,104,534 2,149,851
=02 1,153,168 1,118,936 1,133,650
BEx = 12 227,915 224,162 218,536
Z =z J= 250,188 243,471 231,888
el QU e BEx 10,520,401 10,516,542 10,530,045
A2 AHEY

2015 = 1 27| 2014 4 4 27| 2014 = 1 2]
Z &= AF2toH $ 1,194 $ 879 $ 1,388
R 0Y U= 2 2lA9 =a280 0.56 % 0.40 % 0.62 %
M2EA =93 Moo $ 765 $ 219 $ 1,009

2015 38 2015 129 2014 38

31 31 31
= 24 S, 2|4, 242 AW $ 12,101 $ 12,629 $ 17,732
= =, 2lA, 62 WA Tl 24
thE, 214, 28 Ma g 1.39 % 1.45 % 1.96 %
HE 2 2lA 24 =22 $ 13,676 $ 14,419 $ 16,618
= DY 1= 2 21A OH U= &
2lA Al =42 HE 1.57 % 1.65 % 1.84 %
Bank of America Corporation & XI&| Al
R =R =16 ES)
(BHOF &)
Basel 3 E= & &t
M= 2e| 20154 34 2015 12€ 20144 38
31 31 31
A8 I8 =2 =HIIECO
HEZ 1Oy U= $ 155,438 $ 155,361 $ 150,922
BEZ 1 Y = 11.1% 12.3 % 1.8 %
1S dB2IX Hle 8.4 8.2 7.4

S8 =" 8.6 8.4 7.6
28 B8sx =gy 7.5 7.5 7.0

ARRE =760

2015 3 &

2015 122

7H e - 28 QA TJ2Z Basel 3
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|12t st AR EYE =
g g

SH OlZ0A 245t

g

31 Y 31 Y
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